
 : النسبة والتناسبالفصل الرابع

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2500÷52=48.07 ≈48.1 

2.5×31=77.25 

252÷34=7.41≈7.4 

200÷68=2.94  ≈2.9 
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 وهي نسبة الإدخار0.92=   

https://hulul.online/


 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

4.5 ×100 =450 1.78×1000 =1780 

0.22×10000 = 

2200 

0.03×100000 =3

000 

https://hulul.online/
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